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1 ���§SO�~9¥�tu�3éáb��H1 : µ 6= 500��²�õ�¼ê­�,wÍ5Y²E

�α = 0.05. ò��þ©O�10,20,30,40Ú50ù5«�¹e�²�õ�­�^ØÓôÚÚØÓa.�

��3Ó�Üãþ, ¿�Ñlegend `²�^­��L�o.

2 b�X����K��ÅCþ, �Ï"µ = EX <∞, é5gX���x1, · · · , xn, GiniXê½Â

�

G =
1

2n2µ

n∑
i=1

n∑
j=1

|xi − xj |.

GiniXê3²LÆ¥�^5L«Â\©��Øþï. 5¿�G�±¦^gSÚOþ­#L«�

G =
1

n2µ

n∑
i=1

(2i− n− 1)x(i).

eþ�µ��,-ĜL«^x̄O�G¥�µ��ÚOþ. 3XÑléê��©Ù�,ÁÏLMonte Carlo�

[�{�OÚOþĜ�þ�Ú¥ ê. éXÑlþ!©ÙÚü:©ÙB(1, 0.1)­EdL§. ,	,

3XÑléê��©Ù�ëê���, éGiniXêγ = EGïáìC�%95�&«m(�e¡�5º),

¿¦^Monte Carlo�[�{µdd�&«m�²�CXÇ.
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(2x̄)2 [var(D) + d2
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n(n−1)
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n(n−1)
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i,j=1 |xi −

xj |�Ù*	�. X̄ = 1
n

∑n
i=1Xi, x̄�Ù*ÿ�.


